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UNIT 1 LINEAR MEASUREMENT

Exercise 1.1

{:—;\I Convert the following measurements

I“\‘“_';/I File all your work behind this page.
a 37em = mm b. 927m = cm
c. 598km = cm d 20m = mm
e 91l4m = km f. 58m = cm
g. 863m = cm h. 7465m = km
i 18cm = AT i 190 em = km

Solve the following word problems.

1. John rode 2 kilometres on his bike. His sister Sally rode 3000 meters on her bike. Who rode the

furthest (answer in km)7

!

Jeasica is measuring two pieces of wood. The first piece of wood is 30 em long. The second

piece of wood is 500 mm long. How long are the two line segments together? (answer in om)

3. Dumi grew 10 centimetres in 1 year. He iz now 1.5 m tall. How tall was he 1 y=ar ago?

4. Jane buys a reel of thread for sewing. There are 10 m of thread on the real. She uses 210 om.

How much is left on the reel in centimetres?
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Exercise 1.2

— Convert the following measurements

D
'\: -/ File all your work behind this page.

a. 57ecm = mm b. 891m = cm
c. 50km = cm d 20em = ma
e 184m = km f. 49m = cm
g. 235m = cm h. 10453m = km
i. 23em = mm i- 10em = km

Solve the following word problems.

1. Jabu measured a line for his art project. It iz 200 millimetres long. How many centimetres is the

line?

1

Ming is moving to a new house. Her old house is 3 kilometres from her new house. How many

meters is the old house from the new house?

3. Musa has a 1.2 m long piece of wood. He wants to cut it into 3 equal lengths. How long should

each piece be in millimetres?

4. Jessica's shoebox is 20 centimetres long and 10 centimetres wide. How many more millimetres
is the length of the shoebox than the width?
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UMIT 2: THE PERIMETERS AND AREAS OF TWO-DIMENSIONAL FIGURES

Exercise 2.1
Use the & — KEY on your calculamor
s
|.H:___ Fll= @l your work behind this page.
1. 2
Foa Radhs: Rads:
ramra Dlameder 4 cm 4 . Diamater 28 wim
Circurerence: 1~ | Croumterence
.'-.. T &
L9 '\-\._.\- .
L i
3. )
Radiuc 3 ¢w Radluc / i
[ ] ]
i e
e P, Dibammimiimg- e '"“'-.__ Ciameter
J / g ! *
|' ol I'I Clroumferenoe: I' .h\ llll Circunmiemrnos
I .-.. ! L Ty o
"'-._ _ P N, '1"-._. A
B '\-\.\_\___'_,J-F;

5. A SOuAre Fas & sioe gt of 8 om.
Cakculaie Fe perimeder,

B A square M sides of 45 mm. Caltulale the
peerirmaeber.

T. A reciangee 5 4 = wide and 2 m high. \What

B A redangie s 8m wide and & s Bigh.

= Ez perimebsr? Wiaat ks B perimeber?
g9, 10
a = 5153 ;o o= S o B 5026 mees; o o= B0 i
Cakculai= e Cakulaie T
.._" F perimeter g peerimeter
L] R L]
] [
11. iz
g = GOH s & = B4 mm aom ST s ¢ o o
Cakculafes e Cakcukfe e perimebesr
perirmeber.
-
L} h
[ ]
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13,

al =92 em; a2 = 3lem;

al = 90 mm; a2 = 39 mm;

bl = 51.5%em; b2 = 52,23 em b1 = 57,24 mm; b2 = 4629 mm
Calculate the a? Calculate the
a2 perimeater. perimeater.
b b2
b b2
ai
al
15. 16.

al = 95mm; a2 = 45 mm;

bl = 58 16mm; b2 = 48,2 mm

al = 97 em; a2 = 46 om;
bl = e4,13cm; b2 = 48,74 cm
Calculate the

TSC-0-06-6993-2020-R00

az Calculate the az
rimeter. perimeter.
bx bz " b b2
al ai
17. 18.
a = 50,99 mm; b = 91,41 mm; o = 456em; b = B1B5em; ¢ = 88 em
¢ = 95 mm
Caleulate the Calculate the perimeter.
M pernmetar, a b
c
c
19, 20.

a=5%cm; b = T4em

Calculate the perimeter.

a =41¢cm; b = 80cm

Calculate the perimeter.
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Exercise 2.2

Use the m — key on your calculator

File all your work behind this page.

Radius:
N Diameter: 10 cm

Circumference:

S—

W Radius: 8 cm

Diameter:

| Circumference:

5. A square has a side length of 10 cm.

Calculate the perimeter.

2.
Radius:
y Diameter 8 mm
Circumference:
"
L
4.

Radius 12 mm

Diameter:

Circumference:

H
H

G. A sgquare has side length of 64 mm. Calculate

the perimeter.

7. A rectangle is 5 m wide and 3 m high.

Calculate the perimeter.

B A rectangle is 10m wide and &m high.

Calzulate the perimeter.
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Exercise 2.3

Use the & — key on your calculiator

Flie &l your work betind this page.

©

1.
g = &5 1Bem: ¢ = 2] om
Cakculats T

/S

g = S 85 mim; © o= 95 pem

Calnulak the

L=

T

3
d = 4574 sewk; ¢ = Bl mes
Cakculaie T

.._" I pErmEtEr.
L] L]

=

e

a = 5l 53 mi ¢ o= B3 s

/4t /

Calculaie T peerimieber.

gl = o ald = 47 om;
Bl = &E04 oz B2 = S0001 om

Cakcuinte S

peerimaeder.
-] b
il

B
]l = Elem; &F = 43 cmg
Bl = A5 & b2 = 52,09 om

Calcuabe the

peerimisher.
1] b

a1

dl = 57 o a2 = 300

Bl = EO3T: cwi; 52 = &1H3 oww

8
al = T4 mees a2 = 4T Fim

Bl = 713 mm; b = 5655 mim

Calcubate e Caiculbbe the
pErimeshaT. peerimister.
1] b L] b
i Al Al
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